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       α Β   

 

 

αβα = 2 β  αβ 
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𝑋̅1𝑋̅2

𝑋̅1  =  8.5  

𝑋̅2  

 

𝑋̅ =
𝑛1𝑋̅1 + 𝑛2𝑋̅2

𝑛1 + 𝑛2
 =  

(200 × 8.5) + (250 × 10.2)

200 + 250
 

𝑋̅ =
1700 + 2346 

450
=

4046 

450
= 8.99 

𝑋̅1𝑋̅2

 

𝑋̅1 = 30                                              𝑛1 = 6                                                          
𝑋̅2 = 70                                              𝑛2 = 4                                                          

 

 

 

 

     د  ـالصاع المتجمع التكرار

       التكرار



 لثتمارين وحلول المحور الثا
 

  
 

 

74 

 k =  5 ×  4 =  20 

40 =  (5 ×  4) × 2 

    

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

   

 

𝑋̅ =
∑𝑛𝑖𝑋𝑖

∑𝑛𝑖
 =  

1200

24
= 50 

 

1-  

2-  

   

   

   

  

  

 

 
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𝑀𝑜 = 60 

 

 

 

 

𝐻 =  
∑𝑛𝑖

∑
𝑛𝑖

𝑋𝑖

=  
300000 + 300000

300000
8 +

300000
6

=  

=
600000

37500 + 50000
=  

600000

87500
 

𝐻 = 6.85 

 

 

 37500 =
300000

8
 

 50000 =
300000

6
 

 

𝑋̅ =  
∑𝑛𝑖𝑥𝑖

∑𝑛𝑖
=

(37500 × 8) + (50000 × 6)

37500 + 50000
=  

600000

87500
 

𝑋̅ = 6.85 

 

  

𝑋̅ =
∑𝑥𝑖

𝑛
=  

3 + 5 + 6 + 9 + 3 + 7 + 8

7
=  

41

7
= 5.85 
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𝑅𝑀𝑒 =
𝑛 + 1

2
= 4

 

𝑀𝑒 = 6

 

 

𝑋̅ =  
∑𝑛𝑖𝑥𝑖

∑𝑛𝑖
 

=
(50 × 32000) + (120 × 38000) + (100 × 35000)

50 + 120 + 100
 

=  
1600000 + 4560000 + 3500000

270
=  

9660000

270
 

 

𝑋̅ = 35777.77 

 

 

  

 𝑅𝑄1 =  
𝑛+1

4
=

7+1

4
= 2 

 𝑄1 = 2 
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 𝑅𝑄2 =  
𝑛+1

2
=

7+1

2
= 4 

 𝑄2 = 6 

 

 

𝑄3 =  
3(𝑛+1)

4
=

3(11+1)

4
= 9

𝑄3 = 13


